350 XC-F FACTORY EDITION 2022 <2022><US><F8275V3>

TANK, SEAT
57588
Nur gegen Austausch erhaltlich!
Lieferung erfolgt nur nach Rickgabe des beschadigten Aufklebers
an die landerspezifische Kontaktperson!
Only for replacement!
Delivery only follows after returning the damaged sticker
to your After Sales contact person!
Pos Part Number Description Additional Text Quantity
1 79107913033 Fuel tank cmpl. 1.00
2 79107011000 Seat holder screw 4.00
3 7810700804404 Tank plug cpl. 14 1.00
4 50307014000 TANK ROLLER 12X26X12 '98 3.00
5 0026060136 COLLAR SCREW M6X13 ISA30 3.00
6 0019050201 COUNTERSUNK SCREW ISA25 M5X20 9.00
7 78007000270 PVC-hose 5.6X10X270MM 1.00
8 79108150000HDB Spoiler left with decal 1.00
9 79107040160 Seat cover Factory 18 1.00
10 0025060126 HH collar screw M6x12 TX30 4.00
11 0025060166 HH collar screw M6x16 TX30 1.00
12 0017060206 SCREW F. PLASTIC K60X20AL SW6 4.00




13 79107040100 seat factory 18 1.00
14 79107040010 Seat screw 1.00
15 79707913050 Flange 1.00
16 0770840035 O-ring 84.00X3.5 NBR70 1.00
17 79007089200 Fuel connection 1.00
18 0770125030 O-RING 12,5X3,00 NBR 70 2.00
19 0770060020 O-RING 6,00X2,00 NBR 70 300 TPI Erzbergrodeo 1.00
20 79007090100 Connector for XPE-tank 1.00
21 0770202353 O-RING 20,22X3,53 NBR70 1.00
22 78107088014 NUT F. FUEL PUMP M12 1.00
23 0738080166S FLAT HEAD SCREW ISO7380 M8X16 1.00
24 0770080201 O-RING 8,00X2,0 VITON 1.00
25 79007089000 Angle piece fuel connector 1.00
26 79108151000HDB Spoiler right with decal 1.00




